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Appendix C 
Determining Hectares of Trees Damaged by Tornadoes 

Steps: 

1. Using the boxes created in Step 2 of Appendix B, determine the size of the area within each box 
(see Example 1). 

2. Using the estimation of the percentage of downed trees in each box from Step 3 in Appendix B, 
multiply the percentage by the area of the box to determine the total area of damage (see Example 
1). 

3. Convert to hectares (if required). 

Example 1 

Calculation Example: (Size of Box) X (Percentage of Trees Down) X (Percent of Area with Trees) X (0.0001 ha / 1 m2) 

Box 1: (285 m X 285 m) X (0.15) X (1.00) X (0.0001 ha / m2) = 1.22 ha 
Box 2: (335 m X 335 m) X  (0.20) X (1.00) X (0.0001 ha / m2) = 2.24 ha 
Box 3: (415 m X 415 m) X (0.25) X (0.30) X (0.0001 ha / m2) = 1.29 ha 
Box 4: (415 m X 415 m) X (0.50) X (0.15) X (0.0001 ha / m2) = 1.29 ha 
Box 5: (370 m X 370 m) X (0.00) X (0.40) X (0.0001 ha / m2) = 0.00 ha 
Box 6: (270 m X 270 m) X (0.40) X (0.20) X (0.0001 ha / m2) = 0.58 ha 

Total Hectares = 6.62 ha 
A similar calculation was completed for the downburst damage.




